02-03-25 MTH 161-CO6N

1.3 Introduction to Functions
1.3.1 Exercises
page 43:1, 2,6, 14, 16, 39, 46

1.4 Function Notation
1.4.2 Exercises
page 63: 1, 4, 15, 19, 31, 35, 37, 39, 67
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x y = f(z)
Domain Range
(Inputs) (Outputs)
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Memorize: definition: the implied domain of a
function is the largest subset of the set of real
numbers such that the function is well-defined, i.e.
such that the function can be evaluated.

Strategy: exclude values of x the result in the
division by zero or taking the square root of a
negative numbers.
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1 : 6.66 | v
The graph
confirms our
domain.
1
10 : 2
: : (350) 3=x
f1(x)=—
x+6
~6.66 f1: (-6,undef)

1/7=0.1429
The graph rounded1/7 to 0.143, which is too small.
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f2(x)=\f Fod=1

10 P 10

6.66 f2: (0.143,undef)

Example 1.4.4. The height h in feet of a model rocket above the ground ¢ seconds after lift-off is

given by
—5t2 i <t<
h(t) = 5t +100t, if 0<t¢<20
0, if ¢>20

1. Find and interpret h(10) and h(60).

2. Solve h(t) = 375 and interpret your answers.

h(jo) = ~shfﬁ+mw|q

< _g (o) 11027
_gq¢ ¥ 1000

= (fdoi

Interpretation: The rocket is 500 feet above the
ground 10 seconds after lift-off.

" (g = ¢

Interpretation: The rocket is on the ground 60
seconds after lift-off.
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Piecewise defined function
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f5(x)= x2 ,  x<0
5+ x+1,x=0
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Your name MTH 161-006N quiz 2 no calculator.

1.4.2 EXERCISES

In Exercises 1 - 10, find an expression for f(z) and state its domain.

1.
1. f is a function that takes a real number z and performs the following three steps in the order
given: (1) multiply by 2; (2) add 3; (3) divide by 4.
0%, 09)
Wiy Aomon (0%
2. r

In Exercises 11 - 18, use the given function f to find and simplify the following:

_ 3 3
e f(3) - — 2|
3 -
//
o f(x—4) Hx -\
_ ’)C’L{' - \_)
T xS
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